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Ay fadar:

i) T wesT Afad g1

i) g2t 9T H T @3 3R 15 uraA g1 @l v ifaard g

iii) @3- 31 H 2 3Bl & 7 9T §;

iv) @3- § H 3 3Rl o 6 T &; T

V) TE- I H 2 &g IARd 9T §, T & 93+ & 4 375 g

iv) $ TReAl H HARS [Aeheq QT 7T | Toh oF FT W YAl # & Hdel T Aeheq H7
AT AT BT g

General Instructions:

i) All questions are compulsory.

ii) The question paper has three sections and 15 questions. All questions are compulsory.

iii) Section—A has 7 questions of 2 marks each;

iv) Section-B has 6 questions of 3 marks each; and

v) Section—-C has 2 case based questions of 4 marks each.

iv) Internal choices have been provided in some questions. A student has to attempt only one of
the alternatives in such questions.

s - A
SECTION - A
q. 9. IHh
Q. No. Marks
1 | o ose @& & 8 7% ¢ | 2

a. Ig T IR FI T g- g IT Srealforn?
b. ar SreeIfars WAt & A faf@u |

A boy is suffering from common cold.
a. Which type of disease is this, acute or chronic?
b. Name two chronic diseases.

2 gt 75 W 36F yat AR fAavad g0 W 'g' F A e gwr genfaa grar 82 2

How does value of ‘g’ varies at poles and equator of the planet earth.




a. I MUl HR g2dl T FAg W 66N &1 @l I TgAT 9T HX 4T gamm ?
b. IgAT A TAE W IR gcTATT T¢I AT HI?

Agdr
a. T g T SAR & &d & TadT & ¥ IRy § 3R s W 2s & @R 81
SHIT ¥ THTeT X ST T FAT g2 (g=10m/s?)
b. 39 SHART &1 a5 fohd=r 872

a. If your weight is 66N on the earth surface. What will be your weight on
the moon.
b. Will your mass increase or decrease on moon surface?

Or
a. A ball freely falls off from the terrace of a building and drops to the
ground in 2s. What is its speed on striking the ground? (g=10m/s?)

b. What is the height of the building?

IS TOEY & TIU ITFdId Ta=adl Ush 37ET 0 &1 3= ey & v
3MEeTH HH T FH o 3R ad faf@e?

3gar
Ush [RAfhcds WIEET ATFT H (T I YgdleT hd Ll g7

Personal hygiene is a necessary condition for good health. Write at least two
more condition required for a good health?

Or
How does a doctor diagnoses the disease in a diseased person?

&l ATWAF FU & A fARQT| g7 FHoll W YR 3maer o faf@e |

Name two subatomic particles. Also write the respective charge on these.

FellkleT T eIl HEAT 19 & TUT TR WA TEAT 9 &l 38 dcd H I
fof@u | s wA] & fohaa Felereler 3N =ggiaT Hisg ¢ ?
The mass number of Fluorine is 19 and its atomic number is 9. Write the

symbol of this element. How many electrons and neutrons are present in
its atom.

al deal o X 3R Y SanT i I/ m §, foietehl TRaATY] HE&AT A 6 3R 17 B
SoT Gledl dcdl ahl HATSTohdT AT glefr?

Two element having atomic no.6 and 17 are represented by X and Y
respectively. What will be the valency of these two elements?

TS -9
SECTION - B

a. Th AR & 1 §U UoI¥ § OIS S W T 3T ¥ 3R secr &1 8 gfshar &
AT & TUATAROT Sl TASTSU|
b. 40 kg SETHT I Teh FSHN Il B H T W Tl ¢ | & A & 15 e

3 &l Od W Igaa W olsehl gaRT yred Rufasr Fsft v A By a1ore
STl (1 Be =0.3m )




372t
1000 kg GSTHTA dTell Ueh Toldl &0 & d9T HI 36 Tohel/ger & 72 forel/ger
de Joi & v fFd a1t &Ry &1 9Reaa fifeT |

a. An arrow moves forward when released from a stretched bow. Explain
the transformation of energy in the process.
b. A girl of 40 kg climbs up on her house terrace which is 15 feet above
the ground. Calculate the amount of potential energy she gains.
(1foot=0.3m)
Or
What is the work to be done to increase the velocity of a bus from 36km/h to
72km /h if the mass of the bus is 1000kg?

9 | a. TECENUT T WEREE FHH F1 3EE THE0r Gied @V sEF #1S o Aga
i faf@e |
b. J&carhyUT & " H 'G' 3R 'g @ AT HY §?
a. State Universal law of gravitation along with its equation. Also write two
of its importance.
b. What does ’G ’and ‘g’ stand for with respect to gravitation?
10 | o vegrifew Fsgniteamss 3R AIf3TR FeNss & TaRfes g7 AT |
b.frAfaf@a difet & A faf@vw : i ALOos  ii. MgO
a. Write the chemical formula of Aluminium hydroxide and Sodium chloride.
b. Name the following compound: i. ALO3z ii. MgO
11 | o gemer HaW0T & R Tt (CeH1206 )3R 3ifdae &1 AT grar & |
TSl T 3T{0aeh gGedde IRepfeld SIfat | (C=12u,H=1u,0=16u)
b.12g C-12 # fohcel TRAY] IUREUT &1d & ?
a. During photosynthesis glucose (CeH1206 ) and oxygen is formed. Calculate
the molecular mass of glucose. (C=12u,H=1u,0=16u)
b. How many atoms are present in 12g of C-127?
12 | ¢arae 3R Homaa & gReRg fifow | F9 AT FaREs & g F grer
ST § aF I8 QIS 3R FARSS 3T §ATaT &1 37 ST i g 3K
RO 3TN 7 gaffehd RIAT| o7 31T & Feohet 1 fAf@T |
Define cation and anion. When sodium chloride dissolved in water it form
sodium and chloride ions. Categories them into cation and anion. Also write
the symbols of these ions.
13 | a.gsarurfas foreg g € 2 o AT & 3y faf@u |

b. 6T 91T RAI] FXTAT & T H GAT T RAV] T Ggar HITTUl gEHAT
Solacifae faeary §Y faf@w |

a. What are isotops? write two application of isotopes.
b. Identify the atom whose structure is shown in given
diagram. Also write its electronic configuration.




Gs- 4
SECTION - C
3 @S # 02 Hg-3maiRa 92 (14 31K 15) &1 ¥+ FF & &€ 03 39-9 (a, b
3R ¢) fou 7w &1 39-9eT a 3R b 3FaRT &1 gl 99T ¢ H TH dRE
e Yo forar arar g

This section has 02 case-based questions (14 and 15). Each case is followed
by 03 sub-questions (a, b and c). Parts a and b are compulsory. However, an
internal choice has been provided in part c.

14

S o ¢l T 38d B # widieeT U av a7 & fov Hefaf@d susoi &
AT AT ST B

i. 40 W &I 4 cgdelse 8 Hel & fov

ii. 120W T U &dT 6 gef & foIw

iii. 1000 W &T 9Tt T #AleX &7 99 1 &¢ & fav
fafaf@a geat & 3R dfSw |

a. TIFATSC I STelll T 3HA Fall TR A1 fAf@w |
b. feyd el €T & fav ar gema AfoT |
c. Iie fasTell & @ud & 3.00 ¥9F Uid e g al AT & HE AT 38 B HI
foastelr foer fohder grem?
37ar
IRFA 9T FT A F 99 gfa Bae 10 Hex fir Fas dF e aer
aar/qgmam%?

Raju observed that in his house following devices are used every day .

i. 4 tubelights of 40 W for 8 hours.

ii. ATV of 120 W for 6 hours.

iii. water pump motor of 1000w for 1 hour.
Answer the following questions.

a. Write the energy transformation that takes place when tubelight is
switched is on.
b. Suggest two measures to save electricity.

c. What will be his house electricity bill for the month of March, if given rate

of electricity consumed is Rs 3.00 per unit.
Or

How much water per minute the above water pump can raise to a height of
10m?

15

T Fd o Uh oIseh &l Fie o1 S g 38 ITell A RATH F T AT| 386 AT
38 RIfhcas & 9 of 0| Rfhcds o7 39 7 SS9l of9idiel &I Hal |
fAeIfaf@d gt & 3w ST :

a. Fd & Pl F Pled AT AT & Fohcll 82 TE AN il J HshlHh hReh I Bl




g7
b. 3T aTgh fohee Fed &2 AIaEh T gl arel & A9t & 1 gdST |
c. RAIfFcH® CarT ds%h A FAFUAT ATl I gl AT AT SN I Teh JFA ¢ |
Y dFAT 3T dSh f AT AT A HY AcE HEn |
gdr
Wt 7 fAIROT 3HF 3TAR @ AgeR BT &' | 37 HYT H gise Hfswl

A dog bites a boy when he was disturbing him in a street. His father takes

him to the doctor. Doctor prescribed 7 injections to him.

Answer the following questions.

a. Which disease can be caused by dog bite? This disease is caused by which
infectious agent.

b. What are vectors? Name two vector borne diseases.

c. The injections prescribed by the doctor was the vaccine. How these vaccine

will save the life of the boy.

Or
‘Prevention of diseases is better than its cure’. Justify this statement.




